
Q)Ans2. 

Chemical yualtons -aos 
class: Vr 

|Solution Acodha do lauo of (onsevatim ofmass 

Mass of reclant Mas of 

Q3Ans 

Mass of A¡NQ + Mass of NaCl-Mass ofNaNg 

Ans.3 

3409 + Mas of Na cl 19 28703 

Soluton' &aldton Acor ding 

Mass o Nall 174 QS.7�34Y. 

mass, 

producls 

Total mass of veactans Total mass of 

coater 

4o law of conservalin of 

products 
Ba Cl + Na, soy Ba so, + INaCl. 

RolukonIf wood bun into 

vapou 

air, yeleaser id 

and other gases. do he 

of ash is ash is les than tho mas of ood. 



Q4 Ans} 3 
Solutian Gitven, moy of Na - 6gmy 

moy of Ha= 36gmg. 

Maw of Na t Mass of H,0 = May of tth t 
May of NaoH. 

as> Ans 2 2 

Mas oP NaDH= 82-)= 8oqm 

an 

&olution NaoH + (N H), 30, Nagso, t3NHH+ ho 
is not a balanced Cquatan beca u 

Element 

Mas of Naotl 

Na. 

H 

N. 

2 

6 

above eguatn botth au 

Aecording law of cansevatian ofmoy 
mass of reactah = mas of prduct. Jn the 

3 

unbalaned equalton 

2 



Q6 Ans 3. 


oluton QKNO, ’ KNOg+O2. 
Ans 3 
&olutnt Cacat2Hcl’ Caclh t h0+ c 

Q8)Ans 3 

Oolutn A+a AL’8+Q fe 

teg0, t 9AL-’ AlzO, + 2fe. 

&olulion Agcl Na,52 - Na,y (e)JaNadl. 
The above yeacion s balanced only 

Element 

Ag 

Na 

S 4 

3 

Rs. 

6 



’5Nacl +NacLo, + 3Ha0 

Nacl + Na clo, t3Ha0 

26 
6 

6. 

I moesule of sodium 

6NaoH + ch 3Nacl + No clo, t 3Ha 0. 

6) 

2 

O6. 
D6. 

D6. 
LHS 

H 

Na 

righ sde. 

2 

LHSR.Ns 

chlovat is present 

doluim' NaoH + cl, ’ Nocl + Naclo, +3 Hho. 

H: 

Na 

are 

on 

AL 

There 
6Na OH 4 3c, 

9AL!ANaoH + s0 SNa ALO, +3t2 

6NaoH + cl 

Nao! with'6' MuHiply Naoi! 

wth 9' 
Mupy above cqualim 

Al + NaOH + Ha0 NaAlO,+ 3H 

&olutan 
Anst . QIO 



Qi2 Ars 3. 
&olutn Acondirg to law of vecp1ocal 
praportiors the eighB of to ekments uo 

Combining wth a fed amount of he third 

element Loill bear the some valo io ohieh 

Hey them selvcy veact 

QN3> Ans 
Solu hon TP X hay an atomic weight of 

3. 

QM Ans-I 

The total may ofx o is 30, te tormula 

matche X=4 gh 0=l6gm. 

Xg 0 ax t0 = l446 =30. 

Q5 Ans3. 

olutan-The law of costart popor tian states 

that a pure compound alys cantains te 

Same elenent cornbine d Po tha Some poportfng 

by rnas, reg ard lex of the Sorce Gi method 

of preparakm. 

&oluton Cuo ’ l cu and I Oyg 

To these too Copoun dy 
fued masey of 

Cu cormbined wi 
are to tho ratio of I;2 



Q3) 

Balance the lollouing 

Balarved fqalian 

e Sa + Oa’ feg0, t S09 

Balnced eqpation 
4Fe Sa t 

Balanced 

Reason 
Na 

Na Br 0 + NH,CON Ha -’ NaBr + (o, +Hy0 +N 

BY 

N 
H 

takon. 

Co 

YNa Bro + NH cO Nty y NaBr+ cOat4H0+N 

4 

04 

4 

+ 850g 

6 

R.Hs. 

RHS. 

t 

2. 

O8 
622 



Q4>Ans N Hy, PO, 3Nh + Ha0 + HPo3 

Reoson 
H. 

Sdutan 
Ca 

LHS 

H 

3 

Ans 3 Cao ch t aN H, 3(aCly13Ha0t Ng 

LHS 

3 

6 

RHS 

6 

4. 

RHS. 

3 

6. 

6. 



outin Jo L23 egualiag, Readant 
0qual to paucls 

Q86 Ans: L23,4. 

JEE Adyanged Level 

to patect 
&olukm In all cquafias, reactent are cgual 

Aos A 

Ans I 

Ha t ch’ Hcl is :l:- ratio 

Conghychnsi an Iype 

Sdulin The of hydhoger 
and in H,O, s 5.94 

are 

in Hao is |-27. 

These consistent 
tho Hgo, tlhutate he Low of Constant 

, 

of hycoqen 

proportfoy ohere he elements are 

mass n each Camyourd 
Cormbined to hed and do fnile proportio 



Ans |. 

8olutiant Corpound A 
X40, Y 601. 

X’2 nole, y 3moy 

Compo und B. 

A, 

X:y= Yd; 6 

Xy=a5:45 =l:3. 

X’lmole 

Y in Compound A£B is 
y3 moley. 

In B, s 2 moles of X, y is 6moes. 

ai> Ars |00-gms| ma 

x, 

3:6= |2 

Tpteger yge 

= 2:3. 

CaCo, = 40+12+3 06) 
= 40t12 4 48= (00,my. 

Solution Atom?e we îgt of K is of K is 3./o gmrel 



Soluti on 
a) INg +O 

3) 

b) Hag 
6) 4feSt 70 

d) 4fes,tla, 

Anst 3 
&glutin 

Qa Ans ) 

Ans 
&olutia 

hearner's 

olutin Baladng equatiors is hecesay 

Q) Ans 9. 

Dafe, O, + 450, 

39+35-5+3(16)= 39+35-54 48 =122.5 

to lao of coo servato of mass. 

2. 

’4) 2fe,9 t 850, 

Task 

H Soy. 

ocordig 

9)+32+4(l6) - 2+32464 = 8 

8oluton According 
?n a cheni cal ieacn he atons are 
cveated nor destgyed 

to law o Conservation of mo 
are neither 



Sollion he subslarve which tare part în 

a chemical veacion are called Yeacard's 

&dutiom The number of placey at wbich 
an elemert oppears in a chemical veactrn 

fs called hequency 8 F- pumber 

qi Ans 2. 
Solutian I! he metal E non- metal have 

hegueny, hist balanee melal Sane 

8olutian'- After balondg gualin 2 Cn ae 
on protuet stdo preert 

otary 

balonirng 
I). 

SHgot30, 

pesent after 



QIo>Ar6 3 
Solutiant 

prcduct1 Reoctant 
JEE Main level 

Solutn To a balanced eguatn no of 

atoms on both sides are 

&ol uton Man of beg ker A = 20 gm. 

Mas af beqker B- 20 gmd 

4 

cqual. 

Total mas of sua ant & beaKeTY = 60 gng. 
Roactant + A+ B= 50 gng. 

Reactant + 20t20 =50 
Reactant -50-4O logm. 

The udent pour total eactant fn lbeakn 

Now weigh t Reactant + Moy of bea keon A 

- lo +&0 304m 



= 32: 48 :3 

Ca CotH74 gm 

CH, = l6 amu 

I3 

Solution Ca loH = yo+2[6+J 

is 32gn9 

product 

GMIW of 

Sout an't 
Ans'3 oS 

Sduttn CHy = 12+40)= l6 

Reodands 

Moleculan g 

GM.M of Sg 8x32 - 5 6gmg = 
Solutian Moleculan weight o 

Roadants 
Qfe t 30a 

Q6 Ars ) 

Product 

Solutar 
Q4)Ans 4. 

&alution 
Q3>Anst 2. 



a Arns'-3 
Solutinn Ih Cuo, 1(u rea cti oth l ouygen 

The ratio in Cuog Cuyo is 

QloAns4. 
Yatfo is 

Q1Ans| 

|8duti on) Jr te pair af Ng0s No, Nicqen 

Solutfan 

Cuyo 

In 503 

Oygen 

he 

Q2) Ans Q. 

Cu 

S’ 32, 0’xl6-32, 

S’32, 0 ’3x l6=48. 

1; 

2 3 

&olutonIh klerent Sanpl of co, . 
the roto of CE o= 12: 32 =3:8 

ie called lao of dokte prapor tior 



Q3Ans 4. 
|&elutian Nthogen with 

Balance the 

8olutan 

ans 3fe + 4Ng0 >Nat Feg4. 

Fe 

LHS R. HS. 

3 

Na 8 

Q5 Ans 3 Sn + 6Hcl 

Sn + HcL No 

3 Sn4 6HcL + aNo 

15 

Solution Sn +Hcl + o Soch+ N HyOt 

’ 

in Ng0t NO, 

3 

Sn 

4. 
NO3Sncl, t aNAOH 

H 

O 2 
2 

Sn + 6HcL + No ’ hdh + aNH¡ OH 

Sncl + N H¡ o H 

Snch +aNtoH 



8olutioo 
Cu sa, t kI’(uI+ I¡ t Ky SOy. 

Bdutan 

Cu 

K 

Cu sa, + 4 KI’2ul412 + K2 SOy 
I 

QCuclta H¡0 tS, ’ 

LH-S 

Q1 Ans Cu cl + QMa0 + S0, 2ucd+2Hcl+ HhSOy 

Cu Cl2 t2H0 + SO’ Cucl I Hclt 

Q CuclaHcL. 

Cucl2 + Hh0+ 50,Cucl+ Hcl+Hasoy 

Dêu3)4. 

Cu 

Hasoy. cl 

S 

RHS. 

H 4 

LHS RHS 

O4. 
4. 



Q18|As 2Al3a,+ 9c -’A+6c0. 

Soluton 

2Alya +qc > Al,G + 6Co. 

8olutort 

Ql9Arg C2Hu +34 -’2 co, t 2H 0. 

&oluliont 

C2 Ha4 ,’Q0+ Ha0. 

AL4 

2( H,t30,’QC0,_+2Hao 

o6 

|LHS RHS. 

G20 Ars Hat50 co,taHa0 

H 
C 

H 

LHS RHS 

LH:S 

06 

4 

R.HS 

4 



Q21Ans 

CHy t20 ’ Co, +a0 H 

Ans N b + Na -’NaNH2+ Ha 
8qutian 
NH3 tNa SNaNH + Ha 

N H3 + Na-’ NaNH +2Ha 
NH3 + Na aNa NHgt Hh 

&NH3 QNa ANa NH, t tl 

Solutiont 

Mnlat Na,,Na,toa, ONaoH 

MocoH) Na,0,> Na, Mbart 

H 

62 Ans Mn (oH),+ Naya Neg Mna, t2NacH 

NaoH 

O4.|84 4 

N2 

Mo cOH), + Nag0, Na, Mn Oyt NaOH 

|LHS R HS 

H 

1 

Na 

Mn ) 
LHS 

4. 

RHS 
1 

02 



|8dutin 
CuFes, + ’ Cuy + FeS+S0 

Qufesn t 9’ 

Q15Ans 

Cuzst 2FeS+ S0, 

|oution 

fe S t O, ’ Fe0 + So 

Fes+ 30 >Fe04280, 

Fes + Q0, lFe0 + S0 

fe 

QFes + ao, ’ QFe0 +250, 

QFes + 3O, ’ QFeo+ 2S0. 

Cuys+ Cu SOy’ Cuts0, 

L·HS 

Cuys+ Cusoy-’ut850, 

19 

Ans Cuy S + Cuso, ’ 3Cut2 80, 

fe 

Cu 

LHS 

S 

RHS. 

2 

2 

2 

RHS. 

L·HSR HS 

24 



Qa6 Ars! 
Solulion 

Qas) Ans 

ution 
Cugo + Cuys ’ Cut S02 

J Cuyo t Cuys’ 6Cu t502 

JEE 
QAnst , 2,3,4. 

Cu Q4 

|LHS 

Advared Level 

&oluon Hy t cl ’HcL 

Mal2 

(2-C& y-0 on 
fe ts’ es C -Fe£l-S on 

H 

2 

RHs. 

2 

L: HS 
2 

r 

both stde ) 
both sider) 

2 
2 



Q30) Ans L4. 
8oulion The above realian lells aboul ha 

and lomulal -and also explains the 

Do. of atans and molecules .t4 doen t tell 

he physcal staty and physical condrtin 

Df aveaction on the ano. 

Synbols 

QI> Ans 2 

&outan A balred chenical <qafion typically 

shows Be readants and product E Hen 

stoickiomete vatos but doy no alipay 

speáy all eby fcal condttony. phy 

ooutian Ma+2Hcl ’Maclyt Hy is a balarad 

equat ay because the no-of atoms in reactant 

is equal to the no of atoms in product 

Qas) Ans 4 
&oudton CacOg 

40+12148 
= l009 

40+16 12132 

569 449 



A8 6 

4 Moleculey of seactant, amoleculy of 
products. 

’ 8 atomy of vea ctant 3 atoms of 

a846 =349ms 

products. 
Qs Ars Noe 

&dution' &C0+0, 

Q36 Ans 2 

For he gien equtin all iromatin is 
corfect -

Q31) Ans 3. 

RC02 

8cluton A balanced eguakian ges 
about te no. of atony of all substanres 

învolved o the readior 

Bouian' N¡ ot 3H) >N H3 
I mol 

frtomattn 

Bmol mol. 

| ayam of N hot ode to yead oit 
of He 



chensral 
3)Balanel 

4) a loH ), + 9H cl 
Veotants b preducts 

wsch no.of atamj 
3)A Chenstl eqasiorn ln 

forned io henßrl reortia D Product 
a) The substance cohch 

port fn chenical ea tia 
DThe suboe which tako 4) Roarlant 

Quo Ans a- 4 , b- 1 
Malir Mal ching 

&oluton 

Ca CoH), + 2Hcl) a cl, 2 z0. 

alulton 

2 
Ans 

Baukon 

Q34 



Qy) Ans a- y ,b-|, c-, d-3 

Soldin 

<) 

4 

a) Mg Hcl 

k) CaloH) +2Hcl -

d) Ca co, +2H ct 

) Mgch + H 

2) Ca Ch + Ha0. 

a d2 + HyotCo, 
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